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— Fyinagoras s ineorem

Pythagoras’ Theorem: The Square on the Hypotenuse is equal
to the sum of the squares on the other two sides.

Height

Base

Only works with a right-angled triangle that is a triangle with
an angle of 90°.

In any right-angled triangle, if we have two sides we can
calculate the other side using Pythagoras’ theorem.
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" Pythagoras’'s Theorem
H--m

* Formula: a%+b?=c?
° 82+62 = 107

°* 64+36=100

* \100=10
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" Pythagoras’'s Theorem

°* Example 1

®* Formula: a%?+b?=c?

@ 35 A% = 2 3
® 9+16=x?

"5 - e

o V25 =x

gy
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~ Pythagoras’s Theorem

* Example 2

* Formula: a%+b?=c?

e 10° £ x2=18° 12
* 100+ x*=324 10
* x*=324-100

e xt=294 y
° x=1224

* x=14.96662

* x=14.967
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" Pythagoras’s Theorem

* Find the missing length of each triangle
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" Pythagoras’'s Theorem

® The missing length of each triangle shown in red box.

Q3

73

12

Qb6
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" Pythagoras'’s Theorem

Solution Q1

52= X2+ 42
52_42 =X2
25-16 = X?
9 =X
V9 =3
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Solution Q2

1522 + 9
15292 - ¢
225-81 =X?
144 = X2
V144 =12




" Pythagoras'’s Theorem

Solution Q3

132=24 12
132122 = X2
169 - 144 = X2
25 = X2

V25 = 5
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Solution Q4

252 =2 + 207
252202 =X?
625 — 400 = X2
o

V225 =15




" Pythagoras'’s Theorem

Solution Q5

302 = X2 + 187
302182 =X?
900 - 324 = X2
576 = X2

V576 =24
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Solution Q6

10%= X2 + 82

10282 -
100 - 64 = X?
36 =X

V36 = 6

10



" Area of Triangles

* Find the area of each triangle.

Q3

Q6
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" Area of Triangles

* The area of each triangle.

Q3

Q6
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/ e -
— Area or i1riangie

% base x perp. Height = area

Solutions

e QL
. Q2
e GE
e Q4
e Q5
® Q6

% (4)x3 =
% (9)x12 =
% (5)x12 =

\—/

or
or
or

% (20) x 15 = or
% (18) x 30 = or

% (6) x 8 =

or

(4/2)x3 = 2x3=6m?

(9/2) x12 = 4.5x12 = 54m?
(5/2)x12= 2.5x12 =30m?
(20/2) x 15 =10 x 15 = 150m?
(18/2) x 30 = 9 x 30 = 270m?
(6/2) x 10 =3 x 8 = 24m?
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